

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Bach Oil Production R. R. #I Box 28 Phillipsburg, KS 67661 INVOICE

Invoice Number: 134939

Invoice Date: Feb 18, 2013

Page: 1

Now Includes:



Customer ID	Field Ticket #	Payment	Terms	
Bach	5.455		Net 30 Days	
Job Location	Camp Location	Service Date	Due Date	
KS2-06	Russell	Feb 18, 2013	3/20/13	

Quantity	Item	Description	Unit Price	Amount
		Kenzelmyer C #2		
50.00	MAT	Class A Common	17.90	895.00
1.76		Chloride	64.00	112.64
2.00		Sand	14.40	28.80
106.96	SER	Cubic Feet	2.48	265.27
365.56		Ton Mileage	2.60	950.46
1.00		Liner	2,158.75	2,158.7
74.00	SER	Pump Truck Mileage	7.70	569.80
74.00	SER	Light Vehicle Mileage	4.40	325.60
1.00	EQP	4.5 Rubber Plug	83.07	83.0
1.00	CEMENTER	Tony Pfannenstiel		
1.00	CEMENTER	Glenn Ginther		
1.00	EQUIP OPER	Kevin Rupp		
1.00	OPER ASSIST	Joe Goodson		
		,		
	DE NIET DAVABL	Subtotal		5,389.3

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,778.49

ONLY IF PAID ON OR BEFORE Mar 15, 2013

Subtotal	5,389.39
Sales Tax	366.48
Total Invoice Amount	5,755.87
Payment/Credit Applied	
TOTAL	5,755.87

ALLIED OIL & GAS SERVICES, LLC 054155 Federal Tax I.D.# 20-5975804 SERVICE POINT: REMIT TO P.O. BOX 3 RUSSELL, KANSAS 67665 Russell JOB FINISH JOB START ON LOCATION CALLED OUT 3300m 340pm COUNTY Kenzdryn Phillipsburg LOCATION OLD OR (NEW) Circle one) OWNER CONTRACTOR TYPE OF JOB CEMENT 100 SIC CLASE HOLE SIZE AMOUNT ORDERED DEPTH 650 CASING SIZE DEPTH TUBING SIZE DEPTH DRILL PIPE @ 17.90 \$89500 DEPTH TOOL COMMON MINIMUM PRES. MAX POZMIX SHOE JOINT MEAS. LINE CEMENT LEFT IN CSG CHLORIDE 1.76 de PERFS. ASC DISPLACEMENT @ 14.40 28.80 EQUIPMENT SANO 0 CEMENTER PUMP TRUCK @ # (409) BUSK TRUCK HELPER /QUID DRIVER The 410 HANDLING 106.96 9% @ 2.48 \$ 265.27 **BULK TRUCK** DRIVER 2,60 \$950.46 MILEAGE 365. 54 The TOTAL 2252.17. REMARKS: teod psi Held SERVICE 450 DEPTH OF JOB THE PUMP TRUCK CHARGE. EXTRA FOOTAGE MILEAGE Aggy 74m @7.70 @4,40 B MANIFOLD LINE @ TOTAL \$3054.15 CHARGE TO: STREET. PLUG & FLOAT EQUIPMENT STATE 1x 4/2 Russerplay-@-@ @ To: Allied Oil & Gas Services, LLC. 0 You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or TOTAL\$ 83,07 contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) ____ TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES \$ 5,389, 39. IF PAID IN 30 DAYS BS 2-20 PRINTED NAME. 3610.90 SIGNATURE



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Bach Oil Production R. R. #I Box 28

Phillipsburg, KS 67661

INVOICE

Invoice Number: 134841

Invoice Date: Feb 11, 2013

Page: 1

Now Includes:



Customer ID	Field Ticket #	Payment Terms		
Bach	54151	Net 30	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date	
KS2-06	Russell	Feb 11, 2013	3/13/13	

Quantity	Item	Description	Unit Price	Amount
120.00		Kencelmeier #C-2 Class A Common	17.90	2,148.0
80.00		Pozmix	9.35	748.0
7.00		Gel	23.40	163.8
120.00	MAT	CD-31	10.30	1,236. 294.
30.00		Defoamer	9.80 2.48	533.
215.32		Cubic Feet	2.60	1,736.
667.85		Ton Mileage Liner	2,600.47	2,600.
1.00 74.00		Pump Truck Mileage	7.70	569
74.00		Light Vehicle Mileage	4.40	325
	EQP	5.5 Rubber Plug	83.07	83
1.00	CEMENTER	Tony Pfannenstiel		
1.00		Bobby Smith		
1.00		Kevin Rupp		
1.00	OPER ASSIST	David Scariano		
				10.439

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

4

3,507.55

ONLY IF PAID ON OR BEFORE Mar 8, 2013

Subtotal	10,439.14
Sales Tax	709.86
Total Invoice Amount	11,149.00
Payment/Credit Applied	
TOTAL	11,149.00

ALLIED OIL & GAS SERVICES, LLC 054151 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SERV	ICE POINT:	sel.
Kencelmeies 2	LED OUT	ON LOCATION	JOB START	JOB FINISH
DATE 2-11-13 7 7 9 W	12		CSKYLL BY	STATE
OLD OR NEW (Circle one) Alto Harter of	3.5 W West	South into	We.	le le
	OWNER		7.00	(pr
TYPE OF JOB				
HOLE SIZE T.D. CASING SIZE T.D. DEPTH 3373	CEMENT AMOUNT ORI	DERED 20	JOSK	60/40
CASING SIZE DEPTH 35.75 TUBING SIZE DEPTH		120 7	1/. cd - 3	
DRILL PIPE DEPTH		11. 29 .1	Feb 12.	maner
TOOL DEPTH	COMMON/	205K	@ 17.9	\$2/90100
PRES. MAX MINIMUM MEAS, LINE SHOE JOINT	POZMIX	805%	@ 9,35	\$748.00
CEMENT LEFT IN CSG.	GEL	75K	@ 23,4	13/63,70
THE WA	CHLORIDE_ ASC_ CD	-31 2.4=		
DISPLACEMENT 52. 28 HZO	ASC_00	0#		\$1136.00
EQUIPMENT Och (_@	-
PUMPTRUCK CEMENTER 1004 P	Defoam	off ile	@ 9,80	\$294.00
PUMPTRUCK CEMENTER 1829 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		<u></u>		
BULK TRUCK 3/)			@	
# 410 DRIVER David S. Valley			@	-
BULK TRUCK # DRIVER	HANDLING	215.32 Fy	@ 2.48	\$533.99
T DIVI	MILEAGE _	167.85 TIM	2.60	\$1736.41
REMARKS: ,		8	TOTA	186,860,20
* circulate w 8 fro to surface-		CEDV		
00 4/2 6/1		SERV		
of fany cened (d) 70 stores	DEPTH OF JO	OB	33	75/
Displace - (2 52.28 512 -	PUMPTRUC	K CHARGE	@	#2,600.47
	EXTRA FOO	Jean - 74	, @ 7.70	\$ 569.80
1	MANIFOLD	45H-74	@4.40	# 325.60
Thurlis			@ @	
CHARGETO: Bach O'l Product low.	-			-1.
CHARGETO: Dach O. 1 110040 DD.			TOTA	LES415.87
STREET				
CITYSTATEZIP		PLUG & FLO	AT EQUIPMI	ENT
	1.5%	rubbyly	r @ -	B83,07
	1 / / =		@	
was a Control II C			@	
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment				
and furnish cementer and helper(s) to assist owner or				WC5 - F1
contractor to do work as is listed. The above work was			TOT	AL#83.07
done to satisfaction and supervision of owner agent or				
contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX	(If Any)	1120	12.1
TERMS AND CONDITIONS IIsted on the revelop and	TOTAL CHA	ARGES SIC	1271	7
	DICCOUNT	かららりし	55_ IF	PAID IN 30 DAYS
PRINTED NAME		7	\mathcal{B}_{\cdot}	5 2-13
DIGNATURE VILL FORMAND	his	met 1	net 6	931.59
SIGNATURE Fall To Vianis	U-0	N.C.	,	* .
4				



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Bach Oil Production R. R. #I Box 28 Phillipsburg, KS 67661

INVOICE

Invoice Number: 135030

Invoice Date: Feb 27, 2013

Page:

Now Includes:



Customer ID	Field Ticket #	Payment	Terms	
Bach			Net 30 Days	
Job Location	Camp Location	Service Date	Due Date	
KS2-05	Russell	Feb 27, 2013	3/29/13	

Quantity	Item	Description	Unit Price	Amount
Quality		Kenzelmeyer C #2		
2.00	MAT	Sand	14.40	28.80
53.42		Cubic Feet	2.48	132.48
184.00		Ton Mileage	2.60	479.07
	SER	Squeeze	2,158.75	2,158.7
74.00		Pump Truck Mileage - No Charge		
1.00	SER	Manifold Rental No Charge		
74.00	SER	Light Vehicle Mileage No Charge		
1.00	CEMENTER	Glenn Ginther		
1.00	EQUIP OPER	Woody O'Neil		
1.00	OPER ASSIST	Nathan Donner		
1.00	OPER ASSIST	Danny Sinner	-	
		Subtotal		2,799.

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 559.82

ONLY IF PAID ON OR BEFORE Mar 24, 2013

Subtotal	2,799.10
Sales Tax	190.34
Total Invoice Amount	2,989.44
Payment/Credit Applied	
TOTAL	2,989.44

ALLIED OIL & GAS SERVICES, LLC 056488 Federal Tax I.D.# 20-5975804

DO DOV 21	SERVICE POINT:
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	Jussell KS
	LED OUT ON LOCATION JOB START JOB FINISH
DATE 2-27-13 SEC. TWP. RANGE CALL	11'20 AM 2'00 PM
	COUNTY STATE
LEASEKONZ CLMERLER C-2 LOCATION HILLIPS BE	
OLD OR NEW (Circle one) 33 W 25	ON NE TATO. RD
CONTRACTOR CO. TOOLS (PETTY)	OWNER
TYPE OF JOB	CEMENT DID NOT 45.2
HOLE SIZE T.D.	AMOUNT ORDERED 50 3x Com
CASING SIZE 4/2 / INCR DEPTH TUBING SIZE 2 // DEPTH	AMOUNT ORDERED GO STA COMP
DELLI DIDE DEPTH	2 SX SOND
TOOL CO. Packer DEPTH 685	
PRES. MAX MINIMUM	COMMON@
MEAS. LINE SHOE JOINT	POZMIX@
PERFS. 650	CHLORIDE @
DISPLACEMENT	ASC @
EQUIPMENT	SAND 2 50 @ 14.40 28.80
200	@
PUMPTRUCK CEMENTER GIENA GI	@
# 41) HELPER WOODY O.	@
BULK TRUCK	@
# 410 DRIVER Nather D.	
BULKTRUCK # DRIVER Danay S.	HANDLING 53, 42 XET3 @ 2.48 132, 48
C	MILEAGE 1847/m 760 479,08
(TOO TISHT TO SQUEEZE) REMARKS:	TOTAL: 640.35
RBPC 715 Set Packer 6 685 Test Trools To boot slow bleed off Spatis Pressure Blus To 300# Slow bleed off Spatis Pressure Blus Retist Test's To boot slow bleed offe Affect Sott in 5 minutes, Pull up To 600ft Set Packer, & Pressure on Perf To 300# of Bleed off Got Tighter Affect Wish SAND OFF PRESSURE TO BURGET PRESSURE PRESSURE OF PRESSURE WISH SAND OFF PRESSURE OF PRESSURE PROBLEMS	DEPTH OF JOB
RBP. T. B. C.	
CHARGE TO: Jason WACH OIL COMPany	TOTAL 2158.75
STREET	
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	@
	@@
To: Allied Oil & Gas Services, LLC.	@
You are hereby requested to rent cementing equipment	@
and furnish cementer and helper(s) to assist owner or	3-
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	SALES TAX (If Any) 190.33
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any) 770.33
E CONTROL TO THE CONTROL OF THE CONT	TOTAL CHARGES 2799,10
PRINTED NAME	DISCOUNT 559.82 IF PAID IN 30 DAYS
FRIMTED MAINE	1. 1/1/4 BS 2-28
SIGNATURE	ner. 2239.28
1	